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ݕ 1.1  = ݑ + ݑ�ࡧ࡜ࡴ�1 = ଷݔ + ଶݔ2 + ݔ3 െ 8�

݂�ࡩࡢ࠾࠿��2 ಿ(ݔ)ࡢࡶࡋࡐࡢࡩࢀ࠸ࡤࡻ࡮ࡘࡳ�ᕎ�݂(ݔ)࠻࡬ࡘ�ᕍࡼ࡬ࡐ࠾ࡨࡋࡩ 

(ݔ)݂ 2.1  = ହݔ) െ  ଽ)ଵ଴ݔ

(ݔ)2.2�݂  = ൫௫మିଵ൯మ

(௫యିସ௫ାହ)య 

(ݔ)2.3�݂  = ቀଵା௫
య

ଵି௫య
ቁ
భ
య
 

(ݔ)2.4�݂  = ටݔ + ඥݔ + ξݔ 

݂�ࡩࡢ࠾࠿�.3 ಿ(ݔ)ࡢࡶࡋࡐࡢࡩࢀ࠸ࡤࡻ࡮ࡘࡳ�ᕎ�݂(ݔ)࠻࡬ࡘ�ᕍࡼ࡬ࡐ࠾ࡨࡋࡩ 

(ݔ)݂ 3.1  = tan ଷξݔ + 1 

(ݔ)݂ 3.2  = tan(arcsin  (ଶݔ

(ݔ)݂ 3.3  = ξ1ݔ െ ଶݔ െ arccos  ݔ

(ݔ)݂ 3.4  = csc(tan ଷݔ) 

(ݔ)݂ 3.5  = arcsec ቀξݔ + ଵ
ξ௫
ቁ 
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ݕ 4.1  = ln൫ݔ + ξ1 +  ൯ݔ

ݕ 4.2  = ௫మ ୪୬ ௫
ଶೣశభ

 

ݕ�4.3  = 2ହ௫ାଵ + 4ଷ௫ା଻ 



ݕ�4.4  = ݁ିଶ௫ sin  ݔ4

ݕ�4.5  = ξ௫ାଷ ξଶ௫మା଻ య

ξଷ௫ିଵఱ  

ݕ�4.6  = (௫ାଵ)మ൫௫మିସ௫ିଷ൯భబξଶାଶୱ୧୬௫
ξଷ௫ାହ
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ଶݕ�5.1  sin ݔ + tan ݕ = arctan  ݔ

 5.2�ඥݕݔయ + ଶݕ = ݔ3 + 2 

 5.3�݁௫௬ = arctan(ݕݔ) + ௫
௬
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ݕ 6.1  = tan(arcsin ݊   ,(ݔ = 2 

ݕ 6.2  = ହݔ ln ݔ ,   ݊ = 6 

ݕ�ࡩᕎࡍ 6.3  = ݁ିଶ௫(sin ݔ2 + cos ಿಿݕ�ࡩᕍ࡞࠾ࡋࡡࡴ࠾࠿�(ݔ2 + ಿݕ4 + ݕ8 = 0 
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ݔ 7.1  = ln(sin (ݐ , ݕ = ξݐ + 2 
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ݔ�8.1  = ଷݐ + ,ݐ ݕ = ଷ௧ర

ଶ
+  ଶݐ
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 ᕎࡢࡶࡋࡐࡢࡩࢀ࠸ࡻ࡬ࡎ�ݐ�ࡑࡨ࠸࡙ࡨࡐࡘࡡ

ݔ 9.1  = ݐ3 െ 3 sin ݐ ݕ, = 3 െ 3 cos ݐ   ,ݐ = గ
ଶ
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ݕ 10.1  = (tan ୪୬(ݔ ௫ 

ݕ 10.2  = ଷݔ) െ 2)ξ2ݔଷ + 1 

 10.3 ݁௫ା௬ = sin �ݕݔ
 


